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The Extended Golf Problem concerned a green that we represented as a circular region about the origin of radius 35. A ball
travels along a straight line from a point outside the green in the left half-pane across a portion of the green and exits the
green at the point (35, 0}. We noticed that when the starting point was (-40, -50), the enfry point had rational coordinates (a
nice feature for an exercise for students). We wondered whether the entry point would have rational coordinates for other
starting points. |

After having worked on this question, there may be some things that you don't feel you understand vet. You may have asked
some new questions of your own. in this writing assignment, you are simply asked to write out any unanswered questions that
you have. Make the questions as clear and specific as possible, so other can understand what is on your mind.
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The Extended Golf Problem concerned a green that we represented as a circular region about the origin of radius 35. A ball
travels along a straight line from a point outside the green in the left half-pane across a portion of the green and exits the
green at the point (35, 0). We noticed that when the starting point was (-40, -50), the entry point had rational coordinates (a
nice feature for an exercise for students). We wondered whether the entry point would have rational coordinates for other

starfing points. @ e s

After having worked on this question, there may be soms things that you don't feel you understand yet. You may have asked
some new guestions of your own. In this writing assignment, you are simply asked fo write out any unanswered questions that
you have. Make the questions as clear and specific as possible, so other can understand what is on your mind.
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The Extended Golf Problem concerned a green that we represented as a circular region about the origin of radius 35. A ball
_ fravels along a straight fine from a point outside the green in the left half-pane across a portion of the green and exits the

green atthe point (35, 0). We noticed that when the starting point was (-40, -50), the entry point had rafional coordinates (a
nice feature for an exercise for students). We wondered whether the entry point would have rational coordinates for other
starting points.

After having worked on this question, there méy be some things that you don't feel you understand yet. You may have asked
some new questions of your own. In this writing assignment, you are simply asked to write out any unanswered questions that
you have. Make the questions as clear and specific as possible, so other can understand what is on your mind.
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The Extended Golf Problem concerned a green that we represented as a circular region about the origin of radius 35. A ball
travels along a straight line from a point outside the green in the left half-pane across a portion of the green and exits the
green at the point (35, 0). We noticed that when the starting point was (-40, -50), the entry point had rational coordinates (a

nice feature for an exercise for students). We wondered whether the entry point would have rational coordinates for other
starting points.

After having worked on this question, there may be some things that you don't feel you understand yet. You may have asked
some new questions of your own. In this writing assignment, you are simply asked to write out any unanswered questions that
you have. Make the questions as clear and specific as possible, so other can understand what is on your mind.
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The Extended Golf Problem concerned a green that we represented as a circular region about the origin of radius 35. A ball
. travels along a straight line from a point outside the green in the left half-pane across a portion of the green and exits the
green at the point (35, 0). We noticed that when the starting point was {-40, -50), the entry point had rational coordinates (a
nice feature for an exercise for students). We wondered whether the entry point would have rational coordinates for other
starting points.

After having worked on this question, there may be some things that you don't feel you understand yet. You may have asked
some new questions of your own. In this writing assignment, you are simply asked to write out any unanswered questions that
you have. Make the questions as clear and specific as possible, so other can understand what is on your mind.
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The Extended Golf Problem concerned a green that we represented as a circular region about the origin of radius 35. A ball
travels along a straight line from a point outside the green in the left half-pane across a portion of the green and exits the
green at the point (35, 0). We noticed that when the starting point was (-40, -50), the entry point had rational coordinates (a
nice feature for an exercise for students). We wondered whether the entry point would have rational coordinates for other
starting poinfs.

After having worked on this question, there may be some things that you don't feel you understand yet. You may have asked
some new questions of your own. In this writing assignment, you are simply asked to write out any unanswered questions that
you have. Make the questions as clear and specific as possible, so other can understand what is on your mind.
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The Extended Golf Problem concerned a green that we represented as a circular region about the origin of radius 35. A ball
travels along a straight line from a point outside the green in the left half-pane across a portion of the green and exits the
green at the point (35, 0). We noficed that when the starting point was {-40, -50), the entry point had rational coordinates (a
nice feature for an exercise for students). We wondered whether the entry point would have rational coordinates for other
starting points.

After having worked on this question, there may be some things that you don't feel you understand yet. You may have asked
some new questions of your own. In this writing assignment, you are simply asked to write out any unanswered guestions that
you have. Make the questions as clear and specific as possible, so other can understand what is on your mind.
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The Exiended Golf Problem concerned a green that we represented as a circular region about the origin of radius 35. A ball
travels along a straight line from a point outside the green in the left half-pane across a portion of the green and exits the
green at the point (35, 0). We noticed that when the starting point was (-40, -50), the entry point had rational coordinates (a
nice feature for an exercise for students). We wondered whether the entry point would have rational coordinates for other
starting points.

After having worked on this question, there may be some things that you don’t feel you understand yet. You may have asked
some new questions of your own. In this writing assignment, you are simply asked to write out any unanswered questions that
you have. Make the questions as clear and specific as possible, so other can understand what is on your mind.
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The Extended Golf Problem concerned a green that we represented as a circular region about the origin of radius 35. A ball
travels along a straight line from a point outside the green in the left half-pane across a portion of the green and exits the
green at the point (35, 0). We noticed that when the starting point was (-40, -50), the entry point had rational coordinates (a
nice feature for an exercise for students). We wondered whether the entry point would have rational coordinates for other
starting points.

After having worked on this question, there may be some things that you don't fee! you understand yet. You may have asked
some new questions of your own. In this writing assignment, you are simply asked to write out any unanswered questions that
you have. Make the questions as clear and specific as possible, so other can understand what is on your mind.
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The Extended Golf Problem concerned a green that we represented as a circular region about the origin of raius 35. A ball
travels along a straight line from a point outside the green in the left half-pane across a portion of the green and exits the
green at the point (35, 0). We noticed that when the starting point was (-40, -50), the entry point had rational coordinates (a
nice feature for an exercise for students). We wondered whether the entry point would have rational coordinates for other
starting points. :

After having worked on this question, there may be some things that you don't feel you understand yet. You may have asked
some new questions of your own. In this writing assignment, you are simply asked fo write out any unanswered questions that
you have. Make the questions as clear and specific as possible, so ofher can understand what is on your mind.




The Extended Golf Problem concerned a green that we represented as a circular region about the origin of radius 35. A ball
travels along a straight fine from a point outside the green in the left half-pane across a portion of the green and exits the
green at the point (35, 0). We noticed that when the starting point was (-40, -50), the entry point had rational coordinates (a
nice feature for an exercise for students). We wondered whether the entry point would have rational coordinates for other
starting points.

After having worked on this question, there may be some things that you don't feef you understand yet. You may have asked
some new questions of your own. In this writing assignment, you are simply asked to write out any unanswered questions that
you have. Make the questions as clear and specific as possible, so other can understand what is on your mind.
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The Extended Golf Problem concemned a green that we represented as a circular region about the origin of radius 35. A ball
travels along a straight line from a point outside the green in the left half-pane across a portion of the green and exits the
green at the point (35, 0). We noticed that when the starting point was (-40, -50}, the entry point had rational coordinates (a
nice feature for an exercise for students). We wondered whether the entry point would have rational coordinates for other
starting points.

After having worked on this question, there may be some things that you don't feel you understand yet. You may have asked
some new questions of your own. In this writing assignment, you are simply asked to write out any unanswered questions that
you have. Make the questions as clear and specific as possible, so other can understand what is on your mind.

T am upsure Avat T oweoled be able 4o <hbouo
aﬂg‘{m@ elne howe 10 Coe o 1e Same
Cericiusicns WE have |

How  coute ,L C‘“{“‘eme dhig fo make if
more Siaple For *m'; Stuctenys o understand?) .

th cotal T lowled pp Ahelr knoosted
ol criiiCal Ahinking SEMT AN

w n(x’i’iifa




The Extended Golf Problem concerned a green that we represented as a circular region about the origin of radius 35. A ball
travels along a straight line from a point outside the green in the left half-pane across a portion of the green and exits the
green at the point (35, 0). We noticed that when the starting point was (-40, -50), the entry point had rational coordinates (a
nice feature for an exercise for students). We wondered whether the entry point would have rational coordinates for other
starting points.

After having worked on this question, there may be some things that you don't feel you understand yet. You may have asked
some new questions of your own. In this writing assignment, you are simply asked to write out any unanswered questions that
you have. Make the questions as clear and specific as possible, so other can understand what is on your mind.
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The Extended Golf Problem concerned a green that we represented as a circular region about the origin of radius 35. A ball
travels along a straight line from a point outside the green in the left half-pane across a portion of the green and exits the
green at the point (35, 0). We noticed that when the starting point was (-40, -50), the entry point had rational coordinates (a
nice feature for an exercise for students). We wondered whether the entry point would have rational coordinates for other
starting points.

After having worked on this question, there may be some things that you don't feel you understand yet. You may have asked
some new guestions of your own. In this writing assignment, you are simply asked to write out any unanswered questions that
you have. Make the questions as clear and specific as possible, so other can understand what is on your mind.
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The Extended Golf Problem concerned a green that we represented as a circular region about the origin of radius 35. A ball
travels along a straight line from a point outside the green in the left half-pane across a portion of the green and exits the
green at the point (35, 0). We noticed that when the starting point was (~40, -50), the entry point had rational coordinates (a
nice feature for an exercise for students). We wondered whether the entry point would have rational coordinates for other
starting points.

After having worked on this question, there may be some things that you don't feel you understand yet. You may have asked
some new questions of your own. In this writing assignment, you are simply asked to write out any unanswered questions that
you have., Make the questions as clear and specific as possible, so other can understand what is on your mind.
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The Extended Golf Problem concerned a green that we represented as a circular region about the origin of radius 35. A ball

travels along a straight line from a point outside the green in the left half-pane across a portion of the green and exits the
green at the point (35, 0). We noticed that when the starting point was (-40, -50), the entry point had rational coordinates (a
nice feature for an exercise for students). We wondered whether the entry point would have rational coordinates for other
starting points.

After having worked on this question, there may be some things that you don't feel you understand yet. You may have asked
some new questions of your own. In this writing assignment, you are simply asked to write out any unanswered questions that
you have. Make the questions as clear and specific as possible, so other can understand what is on your mind.
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The Extended Golf Problem concerned a green that we represented as a circular region about the origin of radius 35. A ball
travels along a straight line from a point outside the green in the left half-pane across a portion of the green and exits the
green at the paint (35, 0). We noticed that when the starting point was (-40, -50), the entry point had rational coordinates (a
nice feature for an exercise for students). We wondered whether the entry point would have rational coordinates for other
starting points.

After having worked on this question, there may be some things that you don't feel you understand yet. You may have asked
some new questions of your own. In this writing assignment, you are simply asked to write out any unanswered questions that
you have. Make the questions as clear and specific as possible, so other can understand what is on your mind.
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The Extended Golf Problem concerned a green that we represented as a circular region about the origin of radius 35. A ball
travels along a straight line from a point outside the green in the left half-pane across a portion of the green and exits the
green at the point {35, 0). We noticed that when the starting point was (-40, -50), the entry point had rational coordinates (a
nice feature for an exercise for students). We wondered whether the entry point would have rational coordinates for other

starting points.

After having worked on this question, there may be some things that you don't feel you understand yet. You may have asked
some new questions of your own. In this writing assignment, you are simply asked to write out any unanswered questions that
you have. Make the questions as clear and specific as possible, so other can understand what is on your mind.
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The Extended Golf Problem concerned a green that we represented as a circular region about the origin of radius 35. A ball
travels along a straight line from a point outside the green in the left half-pane across a portion of the green and exits the
green at the point (35, 0). We noticed that when the starting point was (-40, -50), the entry point had rationat coordinates {(a
nice feature for an exercise for students). We wondered whether the entry point would have rational coordinates for other '
starting points.

After having worked on this question, there may be some things that you don’t feel you understand yet. You may have asked
some new questions of your own, In this writing assignment, you are simply asked to write out any unanswered guestions that
you have. Make the questions as clear and specific as possible, so other can understand what is on your mind.
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